Gereag MR LR R 2020/08/10 fallia
W4 iy NS B e E i Fodsk AT
FHEFA R4 IRy e B e fa i 44
B 4l 1hE 2% 3hE 4 5z 6L ThE 8hL
s@57 | sg10m Loom TR BAB) w1036 (+3.5)| 535 FR(3) w10.60 (+35)|BiTH  #hEk(3) w1071 (+35)| 4 H 7 wi10.77 (+35)| Ak K Hhi(4) w10.90 (+3.5)|N4  HIR(3) w10.95 (+3.5)|FEH B T-/1(6) wi127 (29| PRIE(3) w11.45 (+3.2)
the s g [ORERE1%15) SN Iyl I 9N 17
TR A®B) w2099 (3D E SHH(3) w21.68 3D S w22.00 (3.1 R ZHH(3) w2223 G| R LhiE w22.44 (+3.D)| ikl TRJS(3) W23.68 (+4.2) A HACK(4) w23.82 (+3.7)
85100 200m iR tle BwHRAC bl FN Windup JIIES] Fli--YN
B2 ) W23.68 (+4.2)
i
5100 400m BRARH ZERE3) 48.60| Al LLHH(3) 50.13|4f= HE K (4) 50.19| R H KHE(3) 55.80|FAA FHACHR(3) 56.11 411 i +(3) 57.41| B H2(3) 1:02.24
faw) Pl VN Pl VN SR ANig JIES F
8H10H soom |7 HEG) 1:50.40(5T JT-40(6) 21172\ A BESN(3) 21871 /M1l 5(3) 2:24.74
I ON I ON =K 2]
8H10H 1500m {HF 5 (6) 4:24.88| 7111 ELHHE(4) 4312704 FEEL(3) 44134| H ¥ HA(B) 4:4155/k BR=R(3) 4:50.16| <5147 IEEH(3) 5:30.83| 2R 5eik(3) 5:31.88 i FEHR(3) 5:59.29
SLJE AT R 22N ANiE) g N kAN e EWN
85 10H 2000m HA HE®G) 8:57.50| 1k H— 9:23.68
T T S I
SHSH Lk WE H28(3) 2.10
thm
85108 - B HEER) wlA7 (+4)|HEEF  ELA(3) 6.65 (+0.1)| A FlefH(3) w6.42 (+2.9) |7 Efh w6.27 (+4.9)|SF BHA(3) 5.40 (+1.6)|#AA FIAKHR(3) wA.81 (+2.8)
e e JIES] T A B F N3
S$H100 — ek I fEARR(3) w1363 (+2.3)[ERAC Fiefi(3) w1334 (+2.5)
faw PIES
_wemrenr| sat0m 5000m #H EREG) 15:50.30*F2F  FIFR(3) 16:01.50(FH 1 3CK(3) 16:25.21 [ H  KFHE3) 16:45.15|F2J50  H [)(3) 16:52.29 {15 15 ) (6) 16:53.99 (7T ZAs 21:09.18
Ta R T Ta R T Ta R T TE N T TE N T SEHIRSIR N
85100 110mH TEHP HPE(3) w13.98 (+6.4)
6.4 i
ot | sasn M JI B #ERE(3) 25.63
[LRE= PN
. A ING)] w20.80 (+3.6)
ey | son | MM ;% -
8 A8 H —_— B ORFIR) 10.69| R FnE(3) 10.43[EHH  HHK(3) 9.44|HiE  FhH(3) 9.09
e/ JIES] FR msE
wmkr | sAtom 100m JEIR TDHE(4) w175 +a DK BHF(3) wi1.95 (4D HE FVE3) w1262 (+a.D| YL EWL3) w12.68 (+4.D|MAS (1) wi13.02 (+4.D|HEFH HE(3) wi13.15 (+a.D|/INE HNEE(3) w1333 (+5.H)| (] 3£4(3) w1348 (+5.4)
[HIEESHE PN AN g AN g PRI HIEESHEPN kAN T ANia) 75
84108 200m = AHEE w24.84 (+33)|V—7" EF(2) w25.44 (+3.3)| % AsHE(4) w25.61 (+3.3)| /% T3 H17-(3) w26.01 (+45)| iy SEHEFE w26.29 (+4.5) | HF  FHTE(3) w26.44 (+33)|fAS HifE(1) w27.67 (+45) P EE(3) W28.46 (+4.5)
EAET LT RS PN ) 17 Windup NP EHES T ON R
85110H 100m % ka4 58.21|/NHL DU (3) 1:01.66
[ESHESEE SN R K
85108 800m SR BE3EQ2) 2:28.96 |1 S (3) 2:29.20| I HIE(3) 2:30.59| A Q) 2:34.58|/E M ZDY(2) 2:39.36| K7 BEE(3) 24181\ T #%0) 2:43.42| %0 1E(3) 2:43.43
ST-fid T ANid AN [E22ON JE ERE RS FEAN T
$H 108 1500m %k # 4:35.28| Ak il < (3) 451.00|/& L IEER) 4:52.86) )11 HAZR(3) 5:4333| 2 #4(3) 5:52.82(1L1 0 AHIZES) 7:19.52
B HBRETC TR T [ R B R FRAS L
8A8H E Vra ZEB3) 185[ik i Z&=Z&RQ) 1.40[EA HHO) 1.35[ )7l ZEm:(3) 1.35[ 1L RER(3) 1.25
HIEESHE PN [EREERANS kDN T 5y T
$H 108 - e FARG) w5.35 (+4.) |7 #&(3) w5.07 (+4.8)|# s H:(2) w4.89 (+3.D|FAJF B ib(3) wa.89 (+4.4)|EF: HR(3) wa.82 (+2.2)| Pl ZH(3) wa.67 (+2.9)|{E %4 (3) wa.67 (+4.6)|fEA £5(3) w4.36 (+3.3)
H AT I52ON AR A 5y LSS/ BlEESEON 2y =B
8510H — MY EEL2) wi2.74 (+44)|E B A #(3) wi1.14 (+6.1)
[ENE /PN [ENE /PN
—fiz-imi kT 8H8H P # i R 2678
e i e
weser | s10m f— I W) w1506 (+2.9)[42MH <B4 (3) w15.96 (+2.9)| HEEF NG (3) w16.08 (+29)[5EA i (3) w16.94 (+2.9)| i [ #E 5 (3) w1759 (+2.9)| I L #E(3) w22.56 (+2.9)
/B e Kk Pl i Vi
8H80 i I HAR) 918 A FAHR(3) 7.40[ Bl FLHE(3) 7.40
AN 5 5
$HSH - HFAS 5 (3) 2496 A FEB) 21.93[ Nk ZHER) 2111 Bl FLEE(3) 20.06|[E A A 3) 17.89
JHE s T T 5 51




